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QUESTION 1

Scenario: A Citrix Administrator is concerned about the amount of health checks the NetScaler is sending the back-end
resources. The administrator would like to find a way to remove health checks from specific bound services. 

How can the administrator accomplish this? 

A. Use reverse condition monitoring. 

B. Use Service Groups to minimize health checks. 

C. Unbind the current monitor. 

D. Use the No-Monitor Option. 

Correct Answer: C 

 

QUESTION 2

Scenario: Users belong to three Authentication, Authorization and Auditing (AAA) groups: Corporate, Finance and
Software. 

Show aaa groups: >show aaa group 1) GroupName: Corporate 2) GroupName: Finance 3) GroupName: Software 

Done >show aaa group Corporate GroupName: Corporate Weight: 0 Authorization Policy: pol_1, Type: Classic, Priority:
0 > add authorization policy pol_1 ns_true ALLOW > bind aaa group Corporate -policy pol_1 

The user is being denied resources while aaad.debug shows: Group `corporate\\' being extracted for user User1 

Why is the user being denied access? 

A. The Authorization policy is NOT configured properly. 

B. The group attribute is NOT configured in the LDAP policy. 

C. AAA group names are NOT the same as those in Active Directory/ 

D. LDAP Base DN is incorrect. 

Correct Answer: D 

 

 

QUESTION 3

Scenario: A Citrix Administrator configured SNMP to send traps to an external SNMP system. When reviewing the
messages, the administrator noticed several entity UP and entity DOWN messages. 

To what are these messages related? 

A. High availability synchronization 
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B. Load balancing virtual servers 

C. High availability heartbeats 

D. Network interface 

Correct Answer: B 

 

QUESTION 4

A Citrix Administrator needs to migrate a Remote Desktop Protocol (RDP) Proxy configuration based on 

NetScaler 11.1 to NetScaler 12.0. 

Which three actions can the administrator perform to accomplish this requirement? (Choose three.) 

A. Replace an existing Unified Gateway virtual server with RDP Proxy configuration to a load-balancing virtual server
with the AAA-TM server bound to it 

B. Move the existing NetScaler Gateway virtual server with RDP Proxy configuration, placing it behind a Unified
Gateway virtual server 

C. Keep the existing NetScaler Gateway virtual server with RDP Proxy configuration as is, with a Platinum or Enterprise
license 

D. Add a standalone NetScaler Gateway virtual server with RDP Proxy configuration to an existing Standard Edition
appliance 

E. Add a NetScaler Gateway virtual server with RDP Proxy configuration to an existing Content-Switching virtual server 

Correct Answer: ABE 

 

QUESTION 5

Scenario: A Citrix Administrator notices user sessions are disconnecting and reconnecting more often this week than
last week, signaling a problem. 

The administrator troubleshoots this issue and prepares to resolve it using persistence. However, the following
considerations apply in the environment: 

-It is a multi-proxy environment behind the NetScaler. 

-USIP mode is enabled and applied to the services. 

-The session timeout is very short. 

-All users connect from the same location. 

The Administrator can use persistence based on the _____________setting to resolve this issue. (Choose the correct
option to complete the sentence.) 

A. HTTP Cookies 
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B. Proximity 

C. SSL Session IDs 

D. Subnet IP 

Correct Answer: A 
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